Math 115
Sample test 3-7



1.)  Graph (label at least two points on the graph!):    3x – 4y = -12





2.)  Graph (label at least two points on the graph!):     2x + 5y = 0
3.)  Graph (label at least two points on the graph!):     2y + 4 = 6
4.) Complete the ordered pair so that it is a solution to 5y – 5x = 15:

(-2,___)
5.) For  the line 
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a) find the slope given the equation)
      b.) find the y-intercept)
6.) Find the slope of the line 
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7.)   Are the following lines parallel, perpendicular, or neither?: (DO NOT GRAPH!)
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 (must show work for credit!)
8.)    Find the equation of the line with slope -3 that passes through the point (-2, -1)

9.)   Find the equation of the line through the points (-2,-2) and (-1,1)

10.) Graph the inequality:        y < 2x + 3

11.) Determine whether or not (-12, -4) is a solution of the following system: 
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In problems 12–13, solve the systems using either elimination or substitution

(if there is no solution or infinite solutions, state this):

12.)     
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13.)
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14.)    Ken is mixing a drink which includes rum (which is 75% alcohol) and an orange

                liquer (which is 15% alcohol).  How much of each should he use if he wants

                100 ounces of punch with an alcohol content of 30% ?

15.)   A jar contains 72 coins (dimes and nickels).  How many of each are there in the 

          jar if it amounts to $5.20?

16.) A 20-mile cab ride is $32 and consists of an initial set charge and $1.50 per mile.

        Find an equation for the total cost C of an m-mile ride.  How much would you have 

       to pay for a 30-mile ride?

18.) A plane flies 600 miles with a a tailwind in 2 hours.  It takes the same plane 3 hours
       to fly the 600 miles when flying against the wind.  What is the plane’s speed in still 

       air?

19.)  Suppose you have the choice of renting a car form company A or from company B.

        If x is the number of miles traveled in a day and y represents the cost for that day, 

        The equations representing the cost for each company are

        A:  y = 0.20x +20

        B:  y = 0.25x +15

a)    On the same coordinate axes, graph both equations  representing the cost for  
               Company A and B. 

b)   When is the cost less for company A?

c)   When is the cost the same for both companies?

d)   When  is the cost less for company B?
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